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Name: __________________________________



1
On the set of axes below, [image: image1.png]MABC



, altitude [image: image2.png]G



, and median [image: image3.png]CM



 are drawn.

[image: image4.png]> <





Which expression represents the area of [image: image5.png]MABC



?

1) [image: image6.png]BOAG
7



   2) [image: image7.png]GOES
F)



   3) [image: image8.png](CM)AB)
7



   4) [image: image9.png](GO)4B)
F)





2
In the diagram below, [image: image10.png]MABC



 has vertices [image: image11.png]


, [image: image12.png]


, and [image: image13.png]


.  
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What is the slope of the altitude drawn from A to [image: image15.png]BC



?

1) [image: image16.png]


   2) [image: image17.png]


   3) [image: image18.png]


   4) [image: image19.png]




3
The coordinates of the vertices of [image: image20.png]


 are [image: image21.png]


, [image: image22.png]


, and [image: image23.png]


.  Which type of triangle is [image: image24.png]


?

1) right   2) acute   3) obtuse   4) equiangular

4
Triangle ABC has vertices [image: image25.png]


, [image: image26.png]


, and [image: image27.png]


.  The triangle may be classified as

1) equilateral   2) isosceles   3) right   4) scalene

5
Which type of triangle can be drawn using the points [image: image28.png]


, [image: image29.png]


, and [image: image30.png]


?

1) scalene   2) isosceles   3) equilateral   4) no triangle can be drawn

6
If the vertices of [image: image31.png]MABC



 are [image: image32.png]A-2,4)



, [image: image33.png]B(-2,8)



, and [image: image34.png](=5, 6)



, then [image: image35.png]MABC



 is classified as

1) right   2) scalene   3) isosceles   4) equilateral

7
The vertices of [image: image36.png]MABC



 are [image: image37.png]


 [image: image38.png]B(-1,2)



 and [image: image39.png]


  Which conclusion can be made about the angles of [image: image40.png]MABC



?

1) [image: image41.png]msA =msB



   2) [image: image42.png]msA = msC



   3) [image: image43.png]msACE = 90



   4) [image: image44.png]msABC = 60





8
On the set of axes below, [image: image45.png]MNDER



 has vertices at the coordinates [image: image46.png]


, [image: image47.png]


, and [image: image48.png]


, and point G has coordinates [image: image49.png]


.  Owen claims the median from point E must pass through point G.  Is Owen correct?  Explain why.

[image: image50.png]




9
Triangle RST has vertices with coordinates [image: image51.png]


, [image: image52.png]


 and [image: image53.png]T(4,—4)



.  Determine and state an equation of the line parallel to [image: image54.png]RT



 that passes through point S.  [The use of the set of axes below is optional.]

[image: image55.png]




10
Given: Triangle RST has coordinates [image: image56.png]


, [image: image57.png]


, and [image: image58.png]



Prove: [image: image59.png]


 is a right triangle

[The use of the set of axes below is optional.]

[image: image60.png]




11
Triangle ABC has vertices with [image: image61.png]


, [image: image62.png]


, and [image: image63.png]


.  Determine and state a value of x that would make triangle [image: image64.png]ABC



 a right triangle.  Justify why [image: image65.png]MABC



 is a right triangle.  [The use of the set of axes below is optional.]

[image: image66.png]




12
Given:
[image: image67.png]J-4,1)



, [image: image68.png]


, [image: image69.png]



Prove:
[image: image70.png]MNTEN



 is an isosceles right triangle.

[The use of the grid is optional.]

[image: image71.png]




13
A triangle has vertices [image: image72.png]A-2,4)



, [image: image73.png]


, and [image: image74.png]


.  Prove that [image: image75.png]MABC



 is an isosceles right triangle.  [The use of the set of axes below is optional.]

[image: image76.png]><

>X





14
Triangle ABC has vertices with coordinates [image: image77.png]


, [image: image78.png]


, and [image: image79.png]


.  Prove that [image: image80.png]MABC



 is an isosceles triangle but not an equilateral triangle.  [The use of the set of axes below is optional.]

[image: image81.png]




15
Triangle PQR has vertices [image: image82.png]


, [image: image83.png]


, and [image: image84.png]


, and points A and B are midpoints of  [image: image85.png]


 and [image: image86.png]


, respectively.  Use coordinate geometry to prove that [image: image87.png]AB



  is parallel to [image: image88.png]PR



 and is half the length of  [image: image89.png]PR



.  [The use of the set of axes below is optional.]



[image: image90.png]




1
ANS:
4
REF:
011921geo

2
ANS:
4

The slope of [image: image91.png]BC



 is [image: image92.png]


.  Altitude is perpendicular, so its slope is [image: image93.png]


.
REF:
061614geo

3
ANS:
1

[image: image94.png]


  [image: image95.png]


  Slopes are opposite reciprocals, so lines form a right angle.
REF:
011618geo

4
ANS:
2
REF:
061115ge

5
ANS:
2
REF:
081226ge

6
ANS:
3

[image: image96.png]


. [image: image97.png]BC= AJ(-2- (-5)F + (8- 6) = 13



. [image: image98.png]AC= WJ(-2- (-5) + (- 6)* = 13




REF:
011328ge

7
ANS:
1

Since [image: image99.png]


, [image: image100.png]msA =msB



 under the Isosceles Triangle Theorem.
REF:
fall0809ge

8
ANS:


No.  The midpoint of [image: image101.png]DF



 is [image: image102.png]


.  A median from point E must pass through the midpoint.
REF:
011930geo

9
ANS:


[image: image103.png]


;  [image: image104.png]



REF:
062331geo

10
ANS:


[image: image105.png]—
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REF:
011637ge

11
ANS:


The slopes of perpendicular line are opposite reciprocals.  Since the lines are perpendicular, they form right angles and a right triangle.  [image: image106.png]


  [image: image107.png]


  or [image: image108.png]


  [image: image109.png].
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REF:
081533geo

12
ANS:


[image: image110.png]o
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  To prove that [image: image111.png]MNTEN



 is a right triangle, prove that its legs are perpendicular by showing their slopes are opposite reciprocals: [image: image112.png]


  

To prove that [image: image113.png]MNTEN



 is an isosceles triangle, prove that it legs are congruent by using the distance formula: [image: image114.png]i = 4= 2P+ (-9 = 20
Jez-p e -t -





REF:
011029b

13
ANS:


[image: image115.png]il

ACATIR”
Py




Triangle with vertices [image: image116.png]A-2,4)



, [image: image117.png]


, and [image: image118.png]


 (given);  [image: image119.png]


, [image: image120.png]


, definition of slope;  Because the slopes of the legs of the triangle are opposite reciprocals, the legs are perpendicular (definition of perpendicular);  [image: image121.png]pao;



 is a right angle (definition of right angle);  [image: image122.png]MABC



 is a right triangle (if a triangle has a right angle, it is a right triangle);  [image: image123.png]


 (distance formula);  [image: image124.png]MABC



 is an isosceles triangle (an isosceles triangle has two congruent sides).
REF:
011932geo

14
ANS:


[image: image125.png]


Because [image: image126.png]


, [image: image127.png]MABC



 has two congruent sides and is isosceles.  Because [image: image128.png]


 is not true, [image: image129.png]MABC



 has sides that are not congruent and [image: image130.png]MABC



 is not equilateral.
REF:
061832geo

15
ANS:


[image: image131.png]“‘}’ﬁ"{‘
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REF:
081732geo
